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ECONOMICS |
Paper-II (A) : Quantitative Techniques
Time Allowed : Three Hours Maximum marks : 100
Part-A (Compulsary) '
1. Explain the following : fi=ifeiRaa & sarem Hifer -
- (i) Sets e

(ii) Homogeneous function THHY B

(iii) Lagarithm AP

(iv) Primary data TS THD
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(v) Differentiation HqHa-
(vi) Harmonic mean BRICHSP AT
(vii) Coefficient of variation R one
(viii) Interpolation IO

(ix) Fisher's ideal Index Number fer b arﬁﬁf qaPIP
(x) Statistical Systemin India ~ "RAH Tifterda agaear| 10x 2

@)

(i1)

(i11)

(iv)

W)

(3)
®

(i1)
()

@

Part- B (41T — 9)
If the price of acommodity doubles in 4 years, what will be the
average percentage rate of increase per year ? -
af v eg B B TR a6 F T & I &, < fiE T
&1 alrga yfrera &% a1 BT

Find Karl Pearson's correlation coefficient (r), if variance of X
is 2.25, standard deviation of y is 4 and regression equation of
xonyisx=-0.3y+ 18 .

afy x &7 TRV 2.25, y B 99 fmed = 4 AR x Py W
G AR x = 0.3y + 1.8 A vl AgdT &1 He—wwrd

TS (r) A DI | | -
Which term of the series 2, 5, 8, 11, 14....... is 59 ?
AN 2,.5,8,11,14.... S HAE UG 59 &7

Write down four methods for the measurement of secular trend
in a time series. '
Frel A0 ¥ gEERIE 9y & A B AR e ol )
Distinguish between census and sampling method.
oM 9 wioeel fRftRl # e=R sad | 4x5

Part- C (5797 — ¥9)

Unit- I (357X - I)
Find %Of the following : F=1 &1 5T A -

y=(+2x- B2+ 5x +2)

1-x
y = I_'l'; 10
Integrate the followings :
frr=ferRaa &1 wHIse dIfTa:
0 I(Zx’ -3x* +2)dx (ii) _[ logxdx 10
' Or

Solve the following equations by Cramer’s rule :
Frafafes Tl o R fam ¥ 7 Hifad:
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X+y+z=7

X+2y+3z=16 !

X+3y+4z=22 10
(b) Find the inverse of the following matrix :

1 WReew o1 wiieim s SR ¢
1 2 3
A=|1 3 5 _ 10
1 5 12
Unit-11 (318 —

The median and mode of the tollomng chta are Rs. 33.5 and Rs. 34
respectively but three frequencies are missing. Find the missing

frequencies and verify the result: 20
PrefRad Sl BT HED! AR TEas AN ©. 33.5 AR F. 34 %
oreg S smafv arEa ¥ 1 IR SR s AR AR SRR B
e iR |

Wages Frequency
o g
B 0-10 4
10-20 16
20-30 ?
30 - 40 ?
40 - 50 ?
50 - 60 6
60-70 4
Total 730
Or
From the following data, calculate the coefficient of correlation
between age of students and their playing habit : 20
ﬁwwﬁmﬁmﬁﬁrzﬁ Y T TP W B IEd & 9
WE—ra=4 ONP T DI
Age group No. of No. of
(Years) Students  regular players
omg freri 1 Prafi Reenfedi
(@) | B wE:A
15-16 200 150
16 - 17 270 162
17-18 340 170
18- 19 360 180
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19-20 400
20-21 300
Unit - III (3%T1€ — IM)

180
120

The following dala relate to heights of 8 fathers and Lheir sons:
s el AR 37 T A JarE B sriwS et TOR Y
Height of son

(inches)
A i a8

@A)

Height of father
(in inches)
e Bt Jard
(= )
65
66
67
67
68
69
71
73

67
68
64
68
72
70
69
70

Obtain regression equations by calculating both regression
coefficients. Estimate the likely height of the son when father’s height

is 67.5 inches.

20 -

ST TR U S 67 YT TSROl Y 7T SR 19
& 3w Yafad JaE s AR wafe Ao B SaE 67.5 a2
" Or

Find the following data estimate the life expectancy at the age of 22
years: f=1 WHSI & IMER W 22 I B I W WET TARM-

ﬂ'iﬂTﬁT‘f DI

Age Life expectancy

(Years) (Years)
3y ICE R I
() ()
15 322
20 29.1
25 26.0
30 23.1
35 204 . 20
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